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Problems

1 Problem 1

There is a plane with slope angle θ.Length of the first part’s plane is l1.Friction
ratio of l1 is µ1.The length of the second part’s plane is l2 and its friction ratio
is µ2.We know that µ1 > µ2.Object replaced on the top of the plane.If an object
falls down and stops bottom of the plane what’ratio between l1 and l2?

Figure 1: Problem 1

2 Problem 2

Electron with mass m collides with nuclear with mass M .Because of the colli-
sion combined nuclear gets energy with magnitude E.What was the velocity of
electron?(Ignore relativistic effects)
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